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GG(ll) — IRPM-(5)

2020(New)

Time : 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.
wiself Temg 3 v § g I E

The figures in the margin indicate full marks.
397a % 3% YOE & daw & /
Answer from all the Parts as directed.
FRE7TTaT @it 5 6 37
Part - A
AN - A
(Objective Type Questions)

(wegfe )

1. Write whether following statement are ‘True’ or
‘False’ : 2x10=20

Freafafaa sl 4 @ o o’ o ‘aue’ §, g -
(a) Dearness allowance is a component of
Wages.
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(b) FairWages s higher than Minimum Wages.

ﬁaijm{ﬁﬁmﬁm? J

(c) Thereare differences in Wages and Salary.
gl T e § SR BT E |
(d) Bargaining Theory of Wages has been
written in the year 1888.
gl & e g ad qoee H feran m
2
(e) Propounder of the Subsistence Theory of
Wages is David Ricardo.
waglt F Sfr-fraiz fagr & gfones 2fHe
et 8 |
() Demand and Supply Theory is nota theory
of Wages.
i ud gt firgra w1 0F fara o 2 |
(g) Pointmethod is a method of Job-evaluation.
farg fafu, ei-goiad 1 s fafy 2 |
(h) Wages are not regulated by the govemment
gl 1 fafiune w@n & gr 78 fear s
2

(i) Wage differentials creates labour problems.
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) Inter-Industry wage differential is-a kind of
Wage-differentials.
-3 vl fsran, wergdh frrarat =i v

w9 R |

Part-B
qaM-d
(Short-answer Type Questions)
(vrg-3wlia o)
Answer any four questions of the following :
5x4 = 20
Freafeafian 1 & Rt = ol & W -
(a) Whatis Deamess allowance ?
" wEmd R !
(b) Distinguish between Mininium Wages and
Fair Wages.
e ) G I Al o ol S S |
(© Define Subsistence Wages.
-tz Tegh =) afoaia # |

(d) Write objectives of Government Regulation
of Wages.

gt 3wl P & twdt 9 ford |

(e) Whatarethe causes of wage differentials on
the basis of sex ?
fem e Teight et 3 FA-FA 4 F
27 |
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Part-C
IR |
(Long-answer Type Questions)

(dvd -3t w¥)

Answer any three questions of the following :
10x3 = 30

freferfiaa 1 & el o Al & IR -

(@) Define Wages and discuss its components.
Tt Y wfcenfiva B O T e A (EEE
|

(b) Describe the different methods of Job-
evaluation.

- & fafe faftrdi =1 avid Hifer |

(c) Write the Marginal Productivity Theory of
Wages.
wergl) % HiwT JeATeHdl firgra = forg |

(d) Discuss the different methods of wage
fixation.
wrergdl Frafr i forfira frflrat it fererer hifse |

(e) Write the different types of wage differential.
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